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NOTE : Scetion-A is compulsory. All parts of this section to be answered on the questions paper ilself. It
should be completed in'the given time and handed over to the Centre Superintendent. Deleting / Overwriting
is not allowed. Do nol use fead pencil, - S

-NOTE-; Yrisert the cnrrect option (a., h, ¢, d) in the enmpty box ubpasité to each part,.

Q.1 . inserttha correct option (a, b, ¢, d} in the empty box oppesite to sach part, Each part carrles.ona mark.
i} The function f{x) = x?is ; ' :

IS

T T

T

177 1007

(3} Many-to-one (b} Onelo-one - ¢} Onbo (d}  8oth1-1 and onto
i) Letf(x) = 2x + 3, then inverse of f{x) is ; - T
@ %-3 (5) ’%3 g ?-35 : @ 3-%
fiij . The average 1ale of change in y per unit changeinxis ' : ’
" (& Theslope of the secant line (b)  The slope of the tangent line
() Thedenvative oty warl x )" The exaci rate of change
4 .
—E Y e, ’
M dx K
{a) 5«0 by (x5 &y 5 (& 55 .
1 : -
= WX, rvany -
) v} If f{x) 3 then fishy = |
' _ 4 _ 48 - 4 : (-5 -
@ oy U o R TETY N P
vi) L S '
) 11 Lt 11 £ 0 '
. (a) 1+‘I ‘l“-z'!"l'?ﬂ . (b] - _11"2—'?3'1"4'..-,... {C) 1'|'X+‘E'+*§“!‘..u.- (d) N(}neofﬁ}ese ; H
wii) Let F(cy= and £(c) =0 then the graph f(x) is ) 7
{aj Concaveup (b}  Concave down ic)  Straight {d)  Noinformation
viy  The domain of F(ty=2ti-3J+t 'K is
_ @ =R oo o2R Y @ S 1X-{0
W [Befdt=e : '
. ) eer - .
(8 &¥+c T ge*ir- ) T +0 ()  6+e¥+c
%) Ie‘ sinetdx = _ )
(@ sine’ +c (b)  -cose'+c {c} e*+c {d} e"ssine' «c -
X} Let f{x) Is an cdd function and intagrable over [, aj then _[f (X)X = e
] - -
& ] .
@0 b} 2 ff(xx O @ 1
. 4 ]
xli) The nump;l:at represents the *steepness’of a line is called .................o......
© {a) - DirBwdion of the line {by  Siope of the fine
. {c}  Disparsion point : {d} Iniercept
Xil} . Two lines are paraliel, if lhe cross products in between the unit veclors U and Vis ...

U

8 1 (by -1 Tl wv 0
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Xiv)
Xv)

Xvi)

- xvii)

xvili)

X%}

If the angle between two straight line reprasented by ax2 + Zhxy + by? = 0is 90° then.................... .
(a) a+b=0 - B asb (¢ h=ap {d)  h-abw
Inxd+y2+2gx + Uy +c=00f g2+ -¢ <Othen the Circla s .oo.everernrrnnn.,

{a)  Point circle (b)  Realcircle {c}  Concentric circle (d)  Virual

The vertex V (0,0) of the parabola is on the principle axis of symmetry midway between ................
{a}  Tha focus and the directrix : (b)  The focus and tangent

(¢}  The directrix and langent - (d} - None of théss

- ) - 2 2
The line y = mx + ¢ will be tangent to the ellipse -:-z—'f‘-g-i- =1 jf Cr i
@  taEmabt ) wamiol () aiam () alm b
2 2 -
For the hyperbola gf + -zT =1 the asymptoles are the fings ..... [T

@ y=ex @) y=d:%x Ly bx @) y=ax
&y Y d’y | ,dy .
Degree of the D.E. L.... e D G R VIR
sareett \dx"') AL A
@ 0 S o 2 _ d 3
For finding area, if approximation is made through parabelic are, then it is known as ............
(a)  Rectangular rule ' (b}  Trapezoidai rule

(c) - Simpson's rule o (d}  Newton'srule
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- ' . Total Marks-: 80
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Q.2 -Write'short unswers of any TEN of the following parts Each part carries cyual marks

(i)

(ii)
(i)
(iv)
(v)
(vi)

(vii)

(viii)
!

(ix)

)

(xi)

(xii)-

i(xiid)
NOTE :
Q.3 a)
B

Q.4 a)

b)

-Evalua

I£(x)=2x+ 3, g(x) = Ix and h{x) = ﬂg(x)), then find h™' ().
Evaluate lim sem_\ 1
x-l ¥seex
Differentiate f(x) = x* + 1 by first principle rule.
Find the derivative of tan™Vx. .
Find the'Maclaurin scries of f{x) = sin x,
o jcos xé n(sin x) dx
sinx -

1 *
I.wa!uate the mtegral by partial fractlon decomposition I—————--—-2 ! T
X~
l:

Find the angle 6 from the “.“5 Ly to line Lz, if 1he slopcs of Ll‘and Ly are m, =_—?-,

iy = 3. : .
Determine the equal:on of a‘circle usmg the given mfonnauon (0, 0), tangent to the
inex=-§, '
Write the equation of parabola of its focus.is F(O 3) directrix y = —3
Find the gcneral solution of the D.E: ¢" ;ly +yl = 6. _ »
Ifu=-f( ) thcnshowthatxa +y~——-—=0 : _
. ax. " oy L : _
Use Simpson’s rule to approxumate the definitc integral apd then compare with the

exact value of the definite integral I = Ixzdx "= 3'
; :
Section — C Marks ;30
Attempt any THREER questions. Each question carries equal marks.

vaeﬁ)at img _l-fna a>0
X— x

_ I-md the 5™ derivative of f{x) = (6x+4)

Find the angle of intersection between x* —y* =a’, x'+y? = a’2.

. If ABC is a triangle with vertices A(0,0), B(8,6) and C(12,0), then show that the

right bisectors of triangle ABC are concurrent,
Use integration by parts to evaluate the integral Ix sm X cos xdx .

Find the equations of the tangents to the circle x* + y = 25 which are parallel to the
straight line 3x +4y +3=0

Determine the equation of the graphed clllpse

n
) ®:3)
- Y
2 2 :
If U=ton” X220 , then show that x‘-g-ll- + yg_E =tan U,

Xty . X o0k



